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% R M (ARA) feRI A | HEEE
#h X _ ARG yxLs Q=
BFN) TF(N) FHA) ff; +H %
£E 34,462 64,964 99,426 -3.1 5,142 -9.7
1088 21,067 34,193 55,260 -1.7 5,898 -12.0
FLIR 1,063 1,592 2,655 5.1 4,952 -16.0
1= 462 1,105 1,567 13.9 4,299 -25.4
RIR 8,281 10,436 18,717 -3.5 6,755 -10.8
i gl 1,388 2,792 4,180 -3.8 6,734 -10.4
Z2HE 2,136 2,978 5,114 -5.3 5,805 -7.9
R 1,049 2,893 3,942 1.7 5,005 -14.4
KB 4,542 7,706 12,248 0.1 5173 -13.0
R 615 1,679 2,294 -1.2 5,568 -19.6
/N 713 1,501 2,214 -4.7 5318 -6.4
= 818 1,511 2,329 -4.4 6,068 -6.4
1088 LU D 3R 13,395 30,771 44,166 -4.8 4,197 -6.2
tiEE 222 779 1,001 -2.1 3,557 -2.4
C P4 898 2,762 3,660 -8.4 2,773 -1.4
3B 5915 12,922 18,837 -6.2 4,718 -5.5
th&p 1,008 2,478 3,486 4.2 4,159 -14.2
iy 1,198 2,777 3,975 -2.0 4,191 -10.2
FE 927 2,280 3,207 -0.1 4,051 -9.5
HE 764 1,718 2,482 -1.7 3,845 -5.9
Fui 2,463 5,055 7,518 -6.2 3,868 -2.9
F5%k WEEBHSSLVEHEESEF 2
m % = % B =
£E 6,733,954 -0.8 7,592 -11.8 30.6 30.8 274
1088 3,262,542 -1.2 9,990 -12.4 30.8 31.0 95
FLIR 186,895 -4.3 7,035 -1.7 31.0 31.0 7
1= 87,245 -1.4 7,721 -13.9 31.0 31.0 3
RIR 972,052 -1.7 13,006 -12.5 30.2 31.0 28
i gl 286,312 -5.5 9,831 -8.9 31.0 31.0 12
ZHE 337,318 0.1 8,800 -12.8 31.0 31.0 8
R 217,270 1.1 9,081 -13.9 31.0 31.0 8
KBR 627,556 0.6 10,096 -13.4 31.0 31.0 10
R 174,373 0.0 7,325 -20.6 31.0 31.0 7
LE 241,754 0.0 4,871 -10.8 31.0 31.0 8
& 131,767 -3.2 10,725 -71.5 31.0 31.0 4
10MHAOBE | 3,471,412 -0.5 5,339 -10.3 30.5 30.7 179
tiEE 107,161 0.0 3,322 -4.4 30.8 30.8 6
C P4 306,794 -8.6 3,308 -1.1 31.0 31.0 21
3B 1,462,539 2.3 6,076 -13.3 30.7 30.6 65
th&p 321,306 0.1 4,512 -10.7 29.8 29.5 16
iy 327,385 0.0 5,088 -12.0 30.9 30.9 29
FE 232,350 36 5,592 -12.7 30.9 30.8 16
HE 168,119 -6.1 5,676 -71.5 30.8 31.0 6
Ui 545,758 -3.0 5,328 -6.1 29.6 30.9 20




